0000000 (12/1700)
01. (0000000)000 ROODOOO SO000000 S'ROOO :

(1) S0D0000 (a,beS—abe S)001eSO000¢SO0O0D0DODODODO
RxSO00000000000000000 :

(al,bl) ~ (ag,bg) <;> Ju S S u(a1b2 — (Igbl) =0.

000 (e,b) 00000 o/b0000
(2) ST'R:=(Rx S)/~000000000000000000000

al/b1+a2/b2 = (a162+a2b1)/(b162), al/bl'az/bg = (alag)/(blbg).
(3)L:R—>S_1R;al—>a/1DDDDDDSDDDDDDDDDDDDD ¢ 0o
(4) O (S_IR,L)DDDDDDDDDDDDDD 000 Tooooo f:R—T
000 (T,f)0 f(S)e T~ 000000000000 f:S'R—T0O for=f
gdododooooooood
(5) ROODODODODODO0O0O0OODODODOOD ~O0000 (0000000 O0)00ooo
DDDDDL:R%S_IRDDDDDDDS:R\{O}DDDDS_IRDDD(R
000 (quotient field) DO O0O)
02 (0000000)000 ROidealaDDODOO0OOO R/aOOD0O :

(1)RDDDDDDDDDDDDDDDDD:
a~b<=a—>be€a.

(000a=b (moda) 0000)000e 00000 a0000
(2) R/a:=R/~000000000000000000000 :

@+b:=a+b, a@-b:=a-b.
B)rm:R— R/a; a—a 00000000
(4) p: Oideal <= R/p : OO
(5) m: 00 ideal <= R/m : [
03. (0000000)00000 ROOOOO
(1) R: Buclid00 = R: 00 ideal 00 (PID) = R: 000000 (UFD)
(2) R: UFDO00O0f€ R~{0} 0000 f: 000 < f: 00 < (f): O
ideal
3) R:PIDOOD0p: Oideal O p # {0} <= p: 00 ideal
04. 0 KOOOOOOOODO R:=K[X|ODOOO

(1) ROODODOO deg: RN{0} — NOOODO EucdidOODOOODO
(2) 00000000 fe K[X]~{0}00000f: 00 < f:00 < (f): O
ideal <= (f) : 0 O ideal «<—= K[X]/(f) : O
3) 0000 K — K[X] — K[X]/(f) 000D00000000K[X]/(f) 0 K O
000 (KOOOO)0oOooooo
05 0000000 LOM>KOOODOODOODODO [L:K]=I[L:M][M:
K]0O000@OO00000 (21,...,2,) 0 LO MOOOOO (y1,...,ym) 0 MO K O
000000000 (24y;)1<i<ni<j<m 0 L0 K 0OOOODOODO0ODODODOO0DOO)
06 KOODOODODOODOOD KO1000000000f(X)eK[X]0 KOO
000000000000000 acKOOOO
1) (0D0)000000000000000
) KODODDOOO ¢p: K[X] - K; X—aOO0O0OOImp=K(a)OJOOO
) Kerp = (f) 000000000K[X]/(f)~K(a)0DOOO
4) 1K) KO KOODOODDOOOWe) O fO000000
)

gooono
(6) DD0000O0K(e) O KOO KOODOOOOfODODOOOODDOOOOO
god
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07 f(X)eK[X]0O KOO nOmonic0OODODOOOOO0 (DOOODODOO)
wy,...,w, 00000000000

D(f):= [ (wi—w)

1<i<j<n
0 0000 (discriminant) 0000
(1) f(X)=X3+pX+q0 300 xy, 70,23 0000 zy,70,23s 0000000 p,q O
00000000000 D(f)= [ (zi—2;)° = (21— 22)* (21 — 23) (22 — 73)*
1<i<j<3
O p OO0
(2) 000 f£000 vy,...,v,, (000000000000)000000

D) = ()5 [T ) = (-1 TL 1)

(3) f(X)=X"—aeX -b0000000 D(f)D0O0O0O@MO0O: £,/00000
O000ooooooon)

08 f(X)=X'4pX24+¢X+r0400 2 (i=1,...,4) 0000

(1) z; 0O0DODDOOO p,q,r000Qn?

(2) 1’1ZE2+ZE3JZ4,£L‘1I'3+l’2$4,1‘1$4+$21‘3|:| 0000 30ooouogon (DDD
p,g,r 000)0

(3) (x1 + @) (w3 + x4), (1 + x3) (T2 + 24), (x1 + 24) (22 +23) O 30000 3000
00000 (000 pqrO000)0

09. KOOOp>0000000O00a,be KOOOO(a+b)P =a?+?,(a

aPb?
000000000 (@O00: 0ooooo0o0o0 pO 1<k<p—1DDDDp\()

O0000000000)000¢p:K—K;a—a: (000)0000O00O0O0KODODOO
0b0DeUd KOODOOOoOoo

010. OO0 pO0000 000 (p,r)0 g:=p"<100000 (p,7r) =(2,2),(2,3),(3,2)
(00 ¢=4,8,99 0000
(1) 00 F,=Z/pZ 0 r 0000000 f(X) € F[X]00000000000
(mf()DP’DDDDDDDDDDDDDDDDD
(3) K := F,[X]/(f) D00 ¢00 KODOODOOOODOOOODO
(4)Froben1usDD v:K—K;a—a 0000 (a0 ¢(e) DO0OODO)00O0OO
(5) "=idg 000000000 nODOOO

011. 0 KOOOO K*X000000 0000000 00oooogoo
00000000 «"=1000 000 nO000000000D00)000K =F,:
DDDDDDDF;DDDDD

012. 00000000 pO0000(Z/pZ)*000000000O0OOCOO0O0OO p
0000000 (primitiveroot) 0000000000 pO0OD0O0OOOOOOOODOO
goo

013. (FermatOOO0O0)pO000000000ee ZO0OO @ =a (modp) OO
goboboooooboooooon

(1) (000)e pO000 a*'=1(modp) 000O0D0O0O000000OODOOOO
(2) (000)000000000 (a+bP=a”+ (modp) 0000e 000000

0000000000 ((Fermat 000000000000000000000)
014. 00000 L/K O Galois0000000000000000000LOOO

000 LOOL/K O Galeis000D000000000000D00000000000
0000 (L/KO GaloisDOOOD0)0000

(1) L=Q(V2),K =Q
(2) L=F,(T),K = F,(T?) (000070 F,0000)
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015. Z OO monic 0000 f(X ZaZXZEZ ] (a,=1)0000

(1)(GaussDDD)fD QDDDDDDDZDDDDDDDDDDDD(DDDDD
0)0f0 zOOOODODODODQOOOOOOOOO
(2)000f000000 2€@QO000000xr€eZ00 2jap 0000
016. 0000000000000 ZzO(OOO QD)ODODODODODODOOOOO
1) fF(X)=X3+2X -1
(2) f(X)= X3+X—6
(3) f(X)=X*-10X2+1(000: 00 10000000000000 200 20
DDDDDDDDDDDDDDD)
017. 00 p000000000 Z - Z/pZ=F, 000000000 Z[X] —
F[X]000 f(X)€eZ[X]0O0O0O f(X)e F[x) 000000000 f(X)e Z[X]0OO
000000 p0000 f(X)eF[x)000000f0 Z0O (0DD QO)00OO
018. 00000 f(X)eZ[X]0ODODO0O0O0O00O0O0OO p0000 modpO00
O (f(X)eF,z]00D0)00000000000D0ODOO
(1) f(X)=X3+3X+9
(2) f(X)=X3+2X+38
(3) f(X)=X*+5X?+2X +15

000000 ZOOOOOOOO0OOO0OO0O0O0O
0 modp 0 100000000000000 pO00000O0O00(0O
 FF00100080000000000 7))
(3)DDDDDpDDDD<I>8(X)DmodpDDD(DDDDDDDDDDDDDD)D
020. KOOOrO 10000000000
() KO0OOOO KOO 1000 n00000000000000000M chK =0
000 (p:=chK>000 ptn) 00000
(2) 0000000000O0K OO 1000 000000 ¢ 000 (@0O000
00)J0K(¢) O KO GaloisO OO
(3) G:=Gal(K(¢,)/K)OOOOoeGUOOOOe(¢)=¢*000 « 0000000
00G— (Z/nZ)* 00000000 ¢ 0000000000
0D21. p00000¢ D0 1000 p00000000K =Q(,) 0000
()0 pOODOO0O &,(X)e Z[X]OOOOO
(2) g(Y) = ®,(Y +1) € Z[X]0ODOOOyO Z0O (000 QU)00O(MODO:
Eisenstein 000 000000000)
3)®,: Z0O (000 QU)0O0DO(0DDDO®,(X)=DIr(¢,/Q)(X)0000)
4 J[@-¢=p0000000000 D(®,) ="
CEMy
(5) 00000000 Gal(K/Q)~ (Z/pZ)* 00 Gal(K/Q) 0 (p—1)00000
022 0000000G :=Gal(K/Q) ODOODa=amodp € (Z/pZ)* 0000
0, €GO 0,(¢)=¢00000
(1) (p—1) 0000 (Z/pZ) 0000 (0 pO0000O00)00O0000 §=
gmodp 000 (Z/pZ)* = (g)0(Z/pZ)* 000 20000 HO gOOOO
(r-1)/2-1
Z ¢ (i=0,1)0000& e K7 00000,(&),04(6) 00000

(3)§o+&,§o§16KG QUOO00O00O0ODOOoOoOoO
(4) 50—51—2(— )¢9 0 Gauss 0 (0O00D0)0000 (& —&)>="7
1=0

(5) Q0 2000 KYOODOO
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0 23. pDDDDD(L)DDDDDDD(Lagrangemm)mgpmmmm p 00O (O
p
p—1

DDDDDD)DDDDG(p)::Z<9><gD Gauss O (Gaussian sum) 0 00O
p

a=1

(1) (hp)=10000 ()@= (%) e

@ G2 = (=) = 7

(3)/:00000O00CO0O0OO0OOooO (l):<pT)DDDD
p

(4)Cp:exp<%)ECDDDDDDG(p)DDD(DD)DDDDDD

024. pO00000¢O 1000 p00000000K:=Q({)0000p—100
00 d000D0K/QU d000000000000000O0O0O0D0U00ooDoooOoo
025 mnenUiUO0O0O00OO0O0O0OOOO

(1) (DDDDDDD)DDD Z/ng:Z/mZxZ/nZ(DDD)DDDDDDDD
(Z/mnZ)* ~ (Z/mZ)* x (Z/nZ)* (00 0)0

(2) Q(Cmn):Q(Cm:Cn) oooo

(3)D|:| 2000000 GaloisOOOOOOOOOOO

0 26. (DDD TL:5,7,8,9,12,15DD>DDDD TLDDDD(Z/TLZ)XDDDDDD
oodoooooooooooouood Q(Cn>DDDDDDDDDDDDDDDDD
ooooooo

027. 0OoO0OooOoOoan

(1) cos20° cos 40° cos 80°

2 4 8
(2) cos 77T COS — o8 —

7 7
(D0D0“00070000000 GaleisOOOODODOOODO)

028. 00 QOO000 feQ[X]00000QOOOO0O000 K :=Spl(f/Q) O
0000000000 (000)000000000000)00 QOO0000 [K:Q]
0?000K/Q 00O GaloisO G =Gal(K/Q)DDDD00000000K/QOOMO
000000GOO00000 GaleisDOO00O000000000

)
)=X?*-3X+1

)=X*—10X%2+1

)= X*—20X2% + 32

)=X*—-10X%+5

f(X)eQX]D QUUOOD monic0000a 0000000000000
o) 00D0O0OK DDO0OO0D ¢g(X) eQX] 0000 glo) DODOODODOO
00000000 gle)teKOOOOOODDODODODODDOODOOOO(M@MOO
h(e) 00D A(X)eQX]0OOOOOOOOOOOOOODO)

03. K=C()0O cO0000000000 (0O cOoO00000)0000

() KO 000000 600(t):=¢t0000006000 nO0G := (o) O
00 000000000 KO GOOOO0O0O0 K900

1
() KO €0OO0000 700()=,0000007000200H:=(r)00
02000000000 KO HOOOOOO K200
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